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10. CO group in a metal carbonyl cation absorbs at
a. A lower frequency as compared to a neutral metal carbonyl
b. A higher frequency as compared to a neutral metal carbonyl
¢. The same frequency as neutral metal carbonyl
d. None of the above.

11. Fe (CO)s exhibits
a. Trigonal bipyramidal geometry
¢. Square planar geometry

b.Square pyramidal geometry
d. None of the above.

12. Fe3(CO)q is prepared by
a. Thermal decomposition of Fe (CO)s b. Photolysis of Fe (CO)s

¢. Reductive carbonylation Fe (CO)s d. None of the above
13. “The dimeric cyclopentadienyl rhodium has a
a. Tetrahedral geometry b. Square planar geometry
c. Trigonal bypyramidal geometry d. None of the above.
14. Borate is removed by evaporation with
a. Conc HCI b. NaOH
c. NaCl d. None of the above.
15. For a week electrolyte the degree of dissociation is proportional to
a. Square root of dilution b. The concentration
¢. The amount of solvent d. None of the above.

16. The oxidation state of Pt in [PICI(NO,)(NH3)]-

a. +4 b.+2
C +3 d.+5
17. Which of the following is correct statement for outer sphere mechanism
a. No chemical change b. No formation of bridged complex
¢. Both complexes should be in same d. All of the above
spin
18. Which of the following are good bridging ligand
a. Br- b. NCS-
¢. SO, d. All of the above

19. Which of the following is the conditions of outer sphere mechanism

a. Both complexes should not be inert  b. Both com plexes should be in same spin

¢. The electron to be transferred should d. None of the above
not present in ly; set of orbitals

20. The condition for inner sphere mechanism is

a. One complex must be labile b.Two metal atoms forming a bridged
complex
€. In this reaction bonds are broken d. All of the above
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